
Ã|ÀÀ¯�¾Ì»Ze�\¿Zm��Y�¾Ì»Ze�¶]Z«�ÊÀ§�cZ�z�» ��f¼Ì¸Ì»���ZÌ¿�{�Â»�ÊÀ§�cZ�z�»�Á�{Z ]Y ÓZ¯�s�� ÓZ¯�|¯ |Ë�y�d�YÂy�{ ¦Ë{�
4IT-Z-983984 DT-250(35x35),(R=17)����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801522P ZD038012/0 1

ND 0H 06 026 FP-2000����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801502P ZD038012/0 2

ND 0H 06 026 EP-1250����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801501P ZD038012/0 3

4IT-Z 922206a DT-630(70x70),(R=17)����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801519P ZD038012/0 4

ND 0H 06 025(Page1,2) DT-630-US����ϪΧ΍έϭγ�̮Η�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801504P ZD038012/0 5

ND 0H 06 026 FP-3150����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801503P ZD038012/0 6

ND 0H 06 024(pag1,2) DT-250-US����ϩέϘϣ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801505P ZD038012/0 7

ND 0H 02 050 M12(60x40)-250A����ϪΧ΍έϭγ�ϭΩ�̶ΟϧέΑ�̮ηϔ̯ 801526P ZD038012/0 8

3T-11140/0 R3-4500-US����ϩέϘϣ�̶γϣ�̮ηϔ̯�ΕΧΎγ 801506P ZD038012/0 9

4IT-Z-984216 1250(70X70)s=12����ϪΧ΍έϭγ4�̮ηϔ̯ 801523P ZD038012/0 10

GD 0H 06-006 R3/6300����ϪϓέρϭΩ�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ 801508P ZD038012/0 11

4IT-Z-994599/1 DT-630-US����ϪΧ΍έϭγ�έΎϬ̩�̶ΟϧέΑ�̮ηϔ̯�ΕΧΎγ
(60x60) 801524P ZD038012/0 12

4IT-Z-994580/1 DT-630(60x60)S=10����ϪΧ΍έϭγ2�̮ηϔ̯�ΕΧΎγ 801500P ZD038012/0 13

4IT-Z004700 DT-1250-����ϥ̰ηϭ̯�Ρέρ�ϪΧ΍έϭγ�έΎϬ̩��̶ΟϧέΑ�̮ηϔ̯
US(60x60) 801499P ZD038012/0 14

DIN-42534-8-1000A 1000����̶ΟϧέΑ�̮ΑΎϘηΑ�ΕΧΎγ 801421P ZD038011/0 15

DIN-42534-10-1000A 1000����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801422P ZD038011/0 16

DIN-42533 E2000����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801424P ZD038011/0 17

DIN-42532-Bl.2-Nr.3 E (630A)����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801403P ZD038011/0 18

DIN-42533 F1000����̶ΟϧέΑ�̮ΑΎϘηΑ�ΕΧΎγ 801428P ZD038011/0 19

DIN-42533 E1000����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801427P ZD038011/0 20

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« (¦·Y) d¯Za �{

(¦·Y) ZÆ] ¹Ô f�Y ±�]
�Ä�«ZÀ»
¹Ô f�Y Ã�Z¼�

 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)



G.Z-1078 130x66x42-R3/4500����ϩέϘϣ�̶ΟϧέΑ�̮ΑΎϘηΑ�ΕΧΎγ 801401P ZD038011/0 21

G.Z-1170 150x66x24-R3/4500����ϩέϘϣ�̶ΟϧέΑ��̮ϫϼ̯�ΕΧΎγ 801402P ZD038011/0 22

DIN-42531-Bl.2-Nr.3 E(250A)����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801404P ZD038011/0 23

DIN-42533 P1000����̵έΎηϓ�ϪϘϠΣ�ΕΧΎγ 801429P ZD038011/0 24

DIN-42534-15-1000A 1000����̵έΎηϓ�ϪϘϠΣ�ΕΧΎγ 801420P ZD038011/0 25

DIN-42533 E3150����̶ΟϧέΑ�̮ϫϼ̯�ΕΧΎγ 801430P ZD038011/0 26

ND 0H 03-036,038-ND 0H 06-037 Y-630-US-20����ϪϳΎ̡�ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875051P ZD038751/0 27

ND 0H 03-036,038-ND 0H 06-037 Y-250-US-12����ϪϳΎ̡�ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875050P ZD038751/0 28

ND 0H 03-036,037 3150A����Ϫ̰Η�̮ϳ�̶γϣ�ϥγϠΑ 875045P ZD038751/0 29

G.Z-1081 , G.Z-1075 R3-4500-US-64����ϪϳΎ̡ΎΑ�̶γϣ�ϥγϠΑ�ΕΧΎγ 875075P ZD038751/0 30

ND 0H 02-048 6300A����Ϫ̰Η�̮ϳ�̶γϣ�ϥγϠΑ 875541P ZD038751/0 31

ND 0H 03-036,038-ND 0H 06-037 Z-1000-US-30����ϪϳΎ̡ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875052P ZD038751/0 32

ND 0H 03 035 M12x118(D=3.5)����̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875047P ZD038751/0 33

G.D -057 M12X85 -Brass����ϩΩϧΩ�ϡΎϣΗ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875100P ZD038751/0 34

ND 0H 03 005 M12x134 250A����̵ϭϗέΎηϓ�ϥγϠΑ 875049 ZD038751/0 35

DIN 1756 M12x95����ϩΩϧΩ�ϡΎϣΗ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875085P ZD038751/0 36

ND 0H 03-036,038-ND 0H 06-037 Z-2000-US-42����ϪϳΎ̡ΎΑ�ϩέϘϣ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875053P ZD038751/0 37

DIN42539 1000A����̶ΟϧέΑ�ϪϳΎ̡�ΎΑ�̶γϣ�ϥγϠΑ 875052C ZD038751/0 38

DIN42539 3150A����̶ΟϧέΑ�ϪϳΎ̡�ΎΑ�̶γϣ�ϥγϠΑ 875054C ZD038751/0 39

DIN 42539 Z-2000����̶ΟϧέΑ�ϪϳΎ̡�ΎΑ�̶γϣ�ϥγϠΑ 875053C ZD038751/0 40

DIN 1756 M16X105 -Brass����ϩΩϧΩ�ϡΎϣΗ�̶ΟϧέΑ�ϥγϠΑ 875105 ZD038751/0 41

ND 0H 03 003 M12x118(D=4.5)������̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ 875078P ZD038751/0 42

ND 0H 03 003 M12x118(D=5.5)������̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ 875079P ZD038751/0 43

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« (¦·Y) d¯Za �{

(¦·Y) ZÆ] ¹Ô f�Y ±�]
�Ä�«ZÀ»
¹Ô f�Y Ã�Z¼�

 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)



ND 0H 03 035 M12x118(D=6.5)����̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875044P ZD038751/0 44

ND 0H 03 035 M12x118(D=7.5)����̵ϭϗέΎηϓ�̶ΟϧέΑ�ϥγϠΑ�ΕΧΎγ 875042P ZD038751/0 45

{{�³�|Ì«��Â¯~»�ÉZÅ�Ä³�]��{�ÃZ´�Á�§�
�d¯���½M���Âe�¶ËÂve�¶]Z«�ªÌ«{�½Z»��c�Â�ÀËY��Ì£��{�|¿{�³�¶ËÂve�Ã|���¯}�½Z»���{�©Â§�¹Ô«Y�d�Y�¹�Ó�,��Z°¿Z¼Ìa�[Zzf¿Y��{�¹Ô«Y�¶ËÂve�½Z»��dÌ¼ÅY�Ä]�dËZÀ��Z]

cZvÌ�Âe

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« (¦·Y) d¯Za �{

(¦·Y) ZÆ] ¹Ô f�Y ±�]
�Ä�«ZÀ»
¹Ô f�Y Ã�Z¼�

 �xË�Ze����
��
��

���
�½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)


